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Ans.

Ans.

Ans.

PART : CHEMISTR
The molecules having square pyramidal geomefryare

(1) SbFs and PCls {2) Brf = and XeOFa (3) BrFs and PCls (4)5bFs and XeOFa
(2)
F\‘[; .fF F\]r ,/F
ZAN P
0 F F 0 F
The incomect deceasing order of atomic radii :
(1) 5i =P =Cl =F {2) Mg =Al =C >0 (3) Al =B =N =F (4) Be =Mg =Al =5i
(4)
Watch vedio solution

A 50 g solution contains 1 g of solute the depression in freezing point of solution s 0.41 K. Find K
{Molecular weight of solute =256 g/Mol)

(1)5.0176 K-Kg/Mol  (2) 5.14 K-Kg/Mal (3) 5.2 K-Kg/Mol (4) 5.3 K-Kg/Mol
(2)
ATy =K m
0.41 256 49
0.41 =K = 22203 g 14 K-Kg/Mal
' 1000

AH of H(g) is 222 kj /mol, AH® of O{g) is 250 k) /mol AH® of H20 is ~248 k] /mol. What s the bond energy
of O—H bond of Hz0 in k] /mol

(1) 471 K fmol (2) 480 K] fmol (3) 500 K fmol (4) None of these

(1)

Hz(g) +T'1£ Ozlg) ——» H0
2H(g) +0ig) —> HO
AHFH" ={3H$ :IH_;U =i :‘iH?jHJ -— ‘%{M{F}

=2 w222 +350 — FEou
—248 =444 +250 — ZEo

e
2
=222 _ 471 ol

Which of the following set of Quantum number have same energy

[y =2 =2, m==%1 (bin=2 =1, m=-1
lcyn=3, =2 m=0 (din=3, =2 m=1

(1)a, b (2)b, C (3 c. d {4)a, c
(3)

¢ and d set of quantum number have equal value of n +/, so energy is equal.
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6. 70 % by mass solution of HNO3 is taken having density 1.20 gmy/mil. Calculate molarity (Round off)
(13)

II"

=

Molarity =- DDJ
.‘1.2[].

7

g

«1000 =13.33 = 13

7. Matrh the following columin and choose the correct option :

Column - 1 Column- 1l

(A) | HaOz—> HO +02 (P} | Combination reaction

(B) | NaH—> Na +H:z (Q) | Dispropaortionation reaction
(C) | CHa 402 —» CO:z +H:0 {R) | Decomposition reaction
(D) | Fe +CuS0s——» FeS0s +Cu | (S) | Displacement reaction

(1) (A) = (Q); (B) —» (P) ; (C) — (R} ; (D) — (S)
(2) () - (R) ; (B) = (Q) ; (C) — (S} ; (D} — (P)
(3) (A) - (Q) ; (B) —» (R) ; (C) — (P} ; (D) — (S)
[f;ri (A) - (R} ; (B) = (Q) ; (C) -+ (P); (D) ~ (S)

Sol. Watch vedio solution

]

Product A and B in following respectively.
AgNQ, -~ _~Br_AgCN_
(1)~~~ ONO and_~ _~CN
(2)_~_~ONO and -~ __~NC

(3)_~_~MNLCand _~_~CN

(4 _~_~NC and -~ __~NO:
(4)
Watch vedio solution

!FEE

Which of them is most stable/Arrange them in decreasing order.

0% a6

(A) (B)
(1) (A) >(B) >(D) >(C) {2)(B) =(C) >(D) >(A)
(3) (&) =(B) =(C) =(D) (4)(B) =(C) =(A) =(D)
Ans. (1)
Sol. Watch vedio solution
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H
Oz NO:
H O0H CO0H
NO:z
v {B), v {C L (B
(A) (B) {C) (D)

10.

How many of them evolve CO2z with NaHCOs

(1}{A). (B), (D} (2) (A), (C). (D) (3) (C), (D) (4} (A}, (B), (C)
Ans. (2)
Sol. Watch vedio solution

- A

How may reagents will give positive test with both above molecules.
(4) Aldol condensation

(B) Cannizaro

(C) Clemmenson reaction

(D) lodoform

(E} Tollen

(F) Fehling

(3)

Watch vedio solution

87

B
12. E[-“"ICH_CHE_E H—Cl (a)

Bt
Et”

51 : (&) has more rate of reaction that (b) founds reaction 2.
S5-Il : Intra molecular reaction is given by (B) hence rate of reaction increases.
(1) Both Statement | and statement Il are true
(2) Baoth statement | and statement Il are false
(3) Staterment | is true but statement 1l is false
(4) Staterment | is false but statement Il is true
Ans. (4)
Sol. Watch vedio solution

N—CHz—CH>—Cl (b)

Cl

" L ARE A iy

2.C0,
3 HE TH,0
A NH, /4
Find x. Molar mass of B is x:
Ans. (109)
Saol Watch vedio solution



